Question 5

(a)~"Women being an important stakeholder in agricultural development need
to be equipped to enable them to contribute effectively”. Do you agree?
Explain. [13 marks]

(b) Describe and comment on the factors influencing women's lack of
recognition in the agriculture sector in the context of Swaziland.

[12 marks]



Question 1 (Compulsory)

(a) Mention and explain the three pillars of food security? [15 marks]
(b) Discuss how the government of Swaziland could actually improve food
security situation in Swaziland. {15 marks]
(c) What factors have contributed to the serious food security problems in
Sub Saharan Africa? [20 marks]
" Question 2

(a) Discuss any three outcomes that governments aim to achieve by
implementing agricultural policies. s [10 marks]

(b) Even though the agricultural sector is the most important sector in
developing countries, evidence on the ground suggest the contrary.
Critically discuss the meaning of the statement with specific reference to
the Swaziland economy. [15 marks]

Question 3

Some of the issues prompting government'’s intervention in the economy include
(a) Monopoly power :
(b) Asymmetric information
(c) Infant industry argument
(d) Undefined property rights
(e) Distributional inequalities

Explain how each of these can hinder the development of an economy, and the
agricultural sector in particular? [25 marks]

Question 4

a) Explain the importance of agricultural subsidies in promoting rural
agriculture. A o [5 marks]

b) The Agreement on Agriculture (AOA) is centred around three pillars.
Discuss these three pillars and express your view on whether these pillars
are capable of bringing increased growth in the agricultural sector. [20
marks]
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